Seat No.: Z2_ \ 3:§ 3
AB-117

April-2024
B.Com., Sem.-VI

CC-306 : Economics
(Indian Economic Problems — 11)

Time : 2% Hours] [Max. Marks : 70
. GURdAL QB AR MHIRL, 3 244 [BauAL vAIEl AHaml. 14
Y
. olRdAl 2 AW 50AAL Alld-L {2 5L 14
2. ANUR| GslAL Sl UHomel. ' 14
AY
20 URL GlS1AL AHRAURAL UHMAL 14
3. (Road ols ils Al Ausl AL GRell uionAl. 14
Y "
3. [Rosd ols 2 (=Sl Awusla llaAt sl 2l 14
4 GURARYL SRHNAIAL QRLRN ST 14
Yl
4.  GURAMLSLOU ARLAL ML AL 14
5. oigldsey Ul : (A d Uld) 14
(1) vcuslfiAL 2L QR HER2 AR US] 28 Rl GLe{l sl 21l 8.
(a) AEZ- (b) SEZ
(c) STP (d) BTP
2) ARAVSA As eurdlu B, ASRISRIA AsIRIAL WA R 5L oliRuR] 240 .
(a) ECGC* (b) DEPB
(¢) EPCG (d) IIFT
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(3) iR LR 3R it i R A1 Vs suL YRS RA G U 6 ?

(@) MR [AsRusR (b) R ARUASR
(c) (A8l [AsRusR (d)  GurAL oMLY
(4)  OURAML 19911 AR ‘A(Hd1 Rl ABQ AL ARAA 5101 el ?
(a) Al VRIvA C(b) AR R[S
(€) Sl WAl (e (d) 20ls ¢
(5) (1R Qs 56 olsAl e elsui AR udl A2l ?
(a) ols g =3l (b) ABAU ols
(c) 2 ols A1y (=3l (d) ZRLOlS
6) AL [QQw AL US| AlHd1AL BSHE AHIALL ALY 6.
(a) o€ (b)  AQuslx Heuel
(c) SWMNRe (d) USRI

(7)  ARAAL S 5L Roze] cls il 8L sRAML AL AL A2,
(@) USR] ols B, 51 (b) clsl-l olg a5 sl
(©) $Sl2Al qzial (d) Ul A2l oisIR wisdl
8) Rad Als g1 Rt S8R Al uURetAl el A ¥ et Y3l wisari 2419

65, d A UslAL A% AR AL S

(@) CRR (b) SER

(c) LAF - (d) » NPA
(9) Al ov el Al LAARL 8.

(@) UL el Alld (b) AswwL Al

(c) Hieu Al Al (d) Guiall 8¢S ¢l
(10) eURdld 53 9yeid vgld 8.

(a) AMREL vl (b) AR Ul

(c) Ul Mm (d) GurselsldaAld-
(11) AlAAr4ell 53 A= S 2

(a) WRlat 921 widslle 8. (b) MUcdat AL Il 8.

(€) (a) i (b) ol (d)  Ucuet WL wIRa 8.
(12) AlZoiell s34 5101 534 B 2

(@)  SLULL ALQLL RE R4l

(b) s\l goudl 2igAd s34

(c) AUMIMS U[ctAL Ascll

(d) GuzAL oL o
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.  Explain the concept of quantum, composition and direction of India’s foreign trade: 14
OR
1. Evaluate India’s import substitution policy. 14
2.  Explain the functions of Commercial Banks. 14
OR
2.  Explain the problems of Commercial Banks. 14
3.  Explain the objectives of the monetary policy of thé Reserve Bank of India. 14
OR
3. Discuss the tools of the monetary policy of the Reserve Bank of India. 14
4. Discuss the characteristics of Indian tax structure. 14
OR
4. Discuss the problems of black money in India. 14
5. M.C.Q.: (any seven) 14
(1) For foreign trade on agro products, one of the following arrangements have been
created.
(a)  AEZ (b) SEZ
(c) STP (d) BTP

(2)  One of the following institutions in India provides the guarantee to the exporters
for the recovery of the export amounts.

(a) ECGC (b) DEPB
(c) EPCG (d) IIFT
(3) When the Indian rupee is devalued, which of the following parties is benefitted ?
(@) Indian exporter (b) Indian importer
(c) Foreign exporter (d) All of the above
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(4) Who was the chairman of the ‘Banking Reform Committee’ appointed in 1991 in
India ?
(a) C. Rangrajan (b) M. Narsimham
(¢) Dr. Manmohan Singh (d) Abid Hussain

(5) Which of the following bank is not included in the public sector bank ?

(a) Bank of India (b) Axis Bank
(c) State Bank of India (d) Canara Bank
(6) Among different sectors of the economy banking is treated as sector.
(a) Household (b) Financial Intermediary
(c) Corporate (d) Government
(7)  One of the following is not included in the functions of the Reserve Bank of
India.
(@) Government Bank (b) Bankers’ Bank
(¢) Bill Discounting - (d) To issue‘currency notes

(8) The facility provided by Reserve Bank to the scheduled banks for maintaining
liquidity is called by one of the following names :

(a) CRR (b)« SLR
(¢c) LAF (d) NPA
(9) A low interest policy is known as
(a) Cheap money policy (b) Investment policy
(c) Dear money policy (d) None of the above
(10) Indian tax collection system 1s . -
(a) moderately costly (b) moderately cheap
(c) cheap (d) costly

(11) Which of the following 1s true ?

(a) Indirecttaxes are progressive. (b) Direct taxes are regressive.

(c) ~Both (a) and (b) (d) Direct taxes are progressive.
(12) Whichs the reason for demonetization ?

(a)  Tocurb black money

(b). To check hyper inflation

(¢) To prevent anti-social activities

(d)- All of the above
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